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ITpuknan 1.
O6uncymtn sin 15° - cos 15°.
PosB’a30k.

sin 30° B 1

in 15° - 15° = =-=0,25.
sin coS 5 1 ,

Bignosian: 0, 25.
ITpuknan 2.

O6uncymt 6 cos 75° - cos 15°.
Po3B’a30k.

1
6cos75° - cos15° =6 - 3 (cos60° 4 cos90°) =6 -
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Bignosiab: 1, 5.

IIpukiaang 3.
O6uucymru 12 sin 15° - sin 105°.
Po3B’a30k.

128in15° - 8in 105° = 6 (cos 90° — cos 120°) = —6 cos (90° + 30°) =
1

= —6(cos90° - cos 30° — sin90° - sin30°) =6 - 1 - 3= 3.

Bignosiab: 3.
ITpuknang 4.
O6uncaurn 15sin 165° - cos 15°.

Po3B’a30kK.

15sin 165° - cos 15° = 7,5 (sin 150° 4 sin 180°) = 7,5 - sin (180° — 30°)

= 7,5 (sin 180° - cos 30° — cos 180° - sin 30°) = —7,5- (—1) - = = 3, 75.

N | —

Biamosiab: 3, 75.

Ilpukiaang 5.
O6uncyuru 3 sin® 30° + 8 cos? 30°.
Po3B’a30k.

3sin%30° + 8 cos?30° = 3 -

2
8.2 =22=6,75
+ o =6,

e~ =
1w



Bignosiab: 6, 75.

IIpukaang 6.
O6uncmru 5 sin? 60° — 4 cos? 60°.
Po3s’a30k.

3 1 11
5sin?60° —4cos?60° =5-- —4. - = — =2 75.
sin coS 1 1 1 ,
Bignosian: 2,75.
Ilpuxkiaang 7.
O6unciutu 2 cos? 45° + 6 sin? 45°.
PosB’a30k.
9 oo 9 o 2 2
2cos”45° + 6sin“ 45 :2-1—1—6-4—1214—3:4.

Biamosings: 4.

ITpuknang 8.
O6uncmTn 9 - sin? 120° - tg 30°.
PosB’sa30k.

9sin? 120° - tg 30° = 9tg 30° (sin 90° - cos 30° + cos 90° - sin 30°) =

033 _ 21 _

9tg 30 2.3 6

4,5.

Bignosiab: 4, 5.

Ilpukmang 9.
O6uucutu 10 - tg 35° - ctg 215°.
Po3B’sa30k.

sin35° - cos 215°

cos 35° - sin 215°

. sin(—180°) + sin 250° _ 10
sin 180° + sin 250°

10 - tg 35° - ctg215° =10 -

=10

Bignosias: 10.

ITpuknag 10.
O6uncymrn sin 15° - cos 75° + cos 15° - sin 75°.



Po3s’a30k.

sin 15° - cos 75° 4 cos 15 - sin 75° = sin (15° + 75°) = sin 90° = 1.
Biamosings: 1.

ITpuknang 11.
Ob6uncym cos 75° - cos 15° — sin 75° - sin 15°.
Po3B’a30k.

cos 75° - cos 157 — sin 75° - sin 15° = cos (75° + 15°) = cos 90° = 0.
Bianosings: 0.
Ilpukiaang 12.

OGuncmmn (sin 25° - cos 20° + cos 25° - sin 20°)°.
Po3p’sa30k.

2
(sin 25° - cos 20° 4 cos 25° - sin 20°)° = (sin 45°)% = 5= 0.5
Biamosiab: 0, 5.

ITpuknang 13.
(sinz + cosx)* — 1

Ob6uncautn .
sin 2x

Po3s’a30k.

(sinz +cosz)?—1  sin’x + 2sinxcosx + cos?z — 1 )
sin 2z sin 2z '

Bianosigs: 1.

IIpukman 14.

. 177w N 117
sin | — cos | —
6 6

1++/3

O0uucuru

PosB’a30k.

1 11 11
sin (%) + cos (Tﬁ) - sin (5%) + cos <?7T) % + ?
V3

1+3 1++3 1+
1+3 1

T20tve) 2

3



Bignosiab: 0, 5.

IIpuknang 15.
4 ) 4 7
O6uuncyimtu 9 3~ tgx |, gKio sinx = i) <z <T.

Po3B’a30k.

4 4 sin? 4 4 8
o= —tgz) =9 c4+/——" | =9(z+-)=9-2 =2
<3 gw) 37V T SeinZs (3+3) 3

Bianosigb: 24.

Ilpukiaang 16.
O6uuciuru cos 99° + cos 81°.
Po3s’a30k.

c0s 99° + cos81° = 2¢c0s90° - cos 9° = 0.
Bignosiab: 0.

ITpuknang 17.
2sinx —4cosx

Ob6uucuTn — , SIKITO tgx = 2
dsinx — 2cosx

Po3B’a30k.

2sinx  4cosx
COST  COST :2tgx—4:2~2—4: 4—4 :9:0,
Ssinx  2cosr  Stgx—2 5-2—-2 10—-2 8
cosT  COST

Bignosian: 0.

ITpuknang 18.

. 4 T
O6uncauTu 5 cos o, AKIIO Sin o = 5 I<ac< 5
Po3B’s130K.

/ 16 /9 15
. 1—.2 = . 1——: . —:—:3
5V sin“a =5 o ) o5 5
Bianosigs: 3.

IIpukmang 19.

2
O6uncauru 18+/77 sin «v, SIKIIO COS v = 9’ I<ac< g



Po3s’a30k.

4 7
18V 77sina = 18V 77 -1 — cos?2a = 184 [ 77 (1 — a) = 18- 9= 154.
Bignosiab: 154.
ITpuknan 20.
)
O6uncimru 10 - /119 - tg o, K10 cos v = E,O <a< g

Po3B’a30k.

10v119tg o = 10V 119-

Bignosiab: 238.

1 144 — 2 11
1 =10V119 14425 10-—9 — 238.
cos? o 25 5

ITpuknan 21.

O6uuciurn 21 ctg o, saKImo sin o = <a<m.

Y
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Po3sB’a30k.

/1 125 —21-4
2lctga = 214/ —— —1= 214/ — - 1= = —28.
sin” « 9 3

Bignosigb: —28.

Ilpukaang 22.
O6uncaurn 2 cos (4a) + 2sin (4a) - tg (2a).
Po3p’a30k.

1—tg22a+ 2tg 2a

1+ tg?2a 1+ tg?2a
_ 2-2tg*2a+4tg*2a  2+42tg’2a  2(1+tg*2a)
N 1 + tg?2a  1+4tg?2a 14tg22a

2 cos (4a) + 2sin (4a) - tg (2a) = 2 -

tg2a =

Bianosign: 2.

Ilpukiaang 23.
O6uncimru /5 sin(arcctg 2).
Po3p’a30k.

1 1 1
V5 -sin(arcctg 2) = V5 =5 ——— =+5. —
( ) /1 + ctg?(arcetg 2) V1422 NG




Bignosiab: 1.

IIpukiaan 24.
O6uncauTu
((3082 a — 4 cos? g - sin? g) (sina + sin 3a)
2cos? = — 1
2
T
ea=—.
Y

Po3B’a30k.

(cos2 a — 4 cos? g - sin® g) (sina + sin 3a)

2(3082% -1

1 1-—
(COSZCL—4' Toosa, cosa) (sina 4 3sina — 4sin 3a)

2 2

1+cosa—1

(cos?a — 1+ cos?a) - 4sina- (1 —sin’*a)

cosa
(cos?a — 1+ cos®a) - 4sina - cosa

cosa

=cos2a-4sina - cosa = 2cos 2a - sin 2a = sin4a = sin (4-

=0,5.

) 1
=sin— = =
2

Bignosiab: 0, 5.
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